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Estimate the correlation coefficient. N K
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c) r=2 d) r=1
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Describe the correlation in the graph shown.

7
/
#

Q) Strong Negative.\ b) Strong Positive

c) Weak Positive d) Weak Negative
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The scatter plot shows the relationship between the number of chapters and the total number of pages
@ for several books. Use the least-squares regression line ;0 predict how many pages would be in a book
with 15 chapters. T
a) 180 pages b) 100 pages , - _F/ s
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The scatter plot shows the relationship between the number of chapters and the total number of pages
for several books. The data set includes a 3 chapter book with 20 pages. Calculate and interpret the

residual for this book. . .'_\ : b
N\ A gerveX ya\we LB D i’%
a) residual = 10; the book has 10 more pages tha\ﬁ'" By | ¥ 1 e \srl = (S & Lk le;
predicted by the Isrl. ~—residual = —10 the book has 10 fewer é)ages\

than predicted by the Isrl

c¢) residual = 30; the book has 30 pages.
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5. Hours Worked
A r}a_grgsjs,iq_n equation, yhat= -75+22.5x estimates the dollars earned (y) for working x hours. If Joe
(" earned $600, how many hours would you estimate that he worked?
a) 40 hours b) 20 hours
c) 50 hours “d) 30 hours
Best Buy
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6. Number of T\fs\_
If Gold's Gym is looking to buy 30 TVs, how much is each one expected to cost? |72 ']_U i OAN
: 5 P | S
a) 1250 b) 750 298 = KO
[c) 400 d) 0
N
7. What type of correlation do you think there is between: \ WICNE Q) ;;\ A BT
14 —t<A TYHRIYC :
Outside Temperature & Heating Bill " ‘ N
s (colAer )y | =
a) NONE \i ) [ b) Negative | w15 | | et
] NLat v w\, e oty g
c) Not enough information d) Positive ' oh avIE 3
8. What type of correlation do you think there is between:
The amount of time spent driving and the number of miles driven
AN
| a) positive . b) negative
¢) none d) not enough info

https:/fquizizz.com/print/quiz/6129379f0f511001e627c6a 310



1/22/24, 4:04 PM Linear Regression and Correlation 24 | Quizizz

9.

Estimate the value of r:

PR Y it TV, % '
4) 0,08 &~ AWIAE Lo LaM ( b) -0.72—
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c) -0.99 «""'/’ 4_!\.‘«,1_&,_«;( Nef e d) 0.79 & ()¢ AW EE

10.

Estimate the value of r:

Vi

a) 035 \NCOA™ - o  b) 0.89.

oy i A0 (NC-
c) \ \Q \

11. Ifthere is NOT a linear association between 2 quantitative variables, the correlation coefficient will be

close to

Lo’ ) 1
c) -1
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12.  Which of the following statements shows @ frelationship and not just a correlated one?
(Think cause and effect)

R
e

a) As a child's weight increases so does her +1_\ c;...b) A individaal's decision to workin apublic
vocabulary. ’ﬂ‘l-’\ "] (< 1.\ & t.\-“v“k 1 Gl

)C K e school and his diagnosis of skin cancer.
N\ a |||‘-/ \ \-C-H i \‘ ('
/ c) The number of minutes spent exercising and d) Adecrease in temperature and the increase in
the amount of calories burned. & attendance at an roller skating rink.
& wcen-chse ColALd Lakoven (o be hui r-f-\:g.i-"

Absences vs. Exam Scores
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13.

Mrs. Collins made a scatterplot to show the relationship between the number of absences and a
student's final exam score. Based on this scatterplot, a least-squares regression line would predict that

a student with 6 absences would earn what score on the final exam?

a) 65 ~b) 76
gl
c) 92 d) 70

14. Aregression equation, y= -75+22 5x estimates the dollars earned (y) for working x hours. Write a
sentence interpreting thé@[ope ) 5

For cach adld :Lcm\ /n, 0r worked, One ¢xpects
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15. Aregression equation, y= ___-?z5+22.5x estimates the dollars earned (y) for working x hours. Write a

sentence interpreting the y-intercept. Is it meaningful?
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final exam score = 10 + .9(first test score)

L ki
A linear regression equation was comput'e’d to predict the final-exam score from the score on the first
test (see image). Carla sccf{r/ed 95 on the first test. What is the predicted value of her score on the
final exam? A . A

0 Y 0+.9@s)
(a) 955 b) 90
\,‘_‘___/
c) 95 d) 855
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A study of the fuel economy for various automobiles plotted the fuel consumption (in liters of gasoline
used per 100 kilometers traveled) Vs. speed (in kilometers per hour). Aleast-squares line was fitted to
the data. What does the residual plot tell you about the linear model? Choose the BEST answer.

“h—-.

a) The residual plot does not confirm the linearity  b) The evidence is inconclusive

of the data.
c) The residual plot confirms the linearity of the  /d) The residual plot clearly contradicts the linearity |
fuel economy data. | ofthe data. g
. = .': -’\‘\-,“ l‘\-— } S — .
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You have data for many families on the parents’ income and the years of education their eldest child

completes. When you make a scatterplot,

a) the explanatory variable is years of education,

and you expect to see a negative association.

/ c)' the explanatory variable is parents’ income,

L/énd you expect to see a positive association.

b) the explanatory variable is years of education,

and you expect to see a positive association.

d) the explanatory variable is parents’ income,

and you expect to see a negative association.
|

L : ( )N~ O ) | 4
Dependent vf.r.lubr' Is-." Fish fnotlvy fl i/ 1/ A \ L' ;-r,,{— __ l;i-'_"_- N2V L , [ ) |
/Mo Selector——__ (A XA EASA [ /
A SR e
"./ Source Sum of Squoares dr Meon Square F-ratio
Regression 152,95 1 1152.95 504
Residual 114,483 -] 22,6967
| Variable Coefficlent s.e. of Coeff t-ratio prob
fl Constant 148.617 10,71 13.9 { @.0001
il_ 1 g Temp -3.21667 09,4333 =71 o.0009
\
Scientists examined the activity level of a large number of fish at 7 different temperatures. Fish activity
' was rated on a scale of 0 (no activity) to 100 (maximal activity). The temperature was measured in
fi%k degrees Celsius. A computer regression printout is provided. Approximately what percent of the
jl 3 variation in fish activity is explained by the linear model on temperature? o
; a) 91 b) 89 I\ A \
S—0)-504~ d) 4.785 [ = gquaieee
Method Male Female
Firearms 13,950 2,641
Poison 3,148 2,469
| Hanging 3,222 709
20 Other 1,457 690

The two-way table categorizes suicides committed in a particular year by the gender of the victim and

the method used.

Which of the following statements is consistent with the table?

{ v
~—" to commit suicide than do women.

¢) More women commit suicide than men.
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/ a) Men display a greater tendency to use firearms b) Females prefer poison over any other method

of committing suicide.

d) The correlation between method of suicide and

~  Sex of the victim is clearly positive.
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